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Question 1

What is the modulus of the sum of the
following vectors?
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Question 2

What is the Cauchy-Schwarz’s relation
for two vectors @ and b?
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Question 3

Which of the following unit vectors is
perpendicular to the plane spanned
bv2i —6j-3k and 41 + 3j — k7
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Question 4

Find the value of (i—2j+3k) %
(2i+j—-3k).(j+ k) is
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Question 5

The wvector equation of a circle with
centre position vector ¢ and radius a is
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Question 6

Examine the continuity of the vector
function FlO=(t—2i+t%+
katt =27
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Question 7

The necessarv and sufficient condition

for the vector valued function f(t) to
have constant value is
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Question 8
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then the value of (E) is
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Question 9

The i work done by the force
F= (x+v)i+(2y—=x)j along the
straight line y = 2x — 4 from the point
(2,0) to (3,2) is
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Question 10

What is the rate of change

of the function along x-
fGo,y,z) =xy?> +yz? +
zx’axis at the point

(1,—25)?
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Question 11

The divergence of the wvector valued
function f(x,v,z) = xyi+ yzj +zxk
is
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Question 12

The curl of the vector valued function
flx,v,2) = xyi+ vzj + zxkis
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Question 13

If Cisa simple closed curve, the value
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Question 14

Find the angle between the wectors
a=2i—2j—kandb=6i—3j+ 2k
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Question 15

The necessarv and sufficient condition

for two vectors @ and b to be
perpendicular is
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Question 16

Find out the distance between the
two points (2,0,—1) and (—2,5,4).
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Question 17

If two vectors a and b satisfy the
relation |@+ b| = |a| + |B|, then what
is the angle between them?
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Question 18

If the adjacent sides of a triangle are
a and b, then find out the area of the
triangle.
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Question 19

If the sides of a triangle are the
vectors @, b and €, then find the value
ofa +b+ ¢.
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Question 20

Are the three vectors 2i—j+ 2k,
4i +j and 3i + k coplanar?
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Question 21

Examine the continuity of the vector
function f(t) = cos(t —2)i +
sin(t)j+tkatt=2 7
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Question 22

If a particle is moving along the curve
x=acost, y=Dbsint, z=ct, then
find the acceleration of this particle at
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Question 23

What is the necessary and sufficient
condition _for the vector valued
function f(t) to have constant
direction?
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Question 24

If f(t)=sint i +cost j+tk, then
find the value of

Question 25

If  Flt)=5t% + 2tj + (3t — Dk,
then find the value of

lj Flt)dt.
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Question 26

What is the curi(curlf) of the
vector valued function f(x,y,z)=
ayi +vzj+zxk ¥
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Question 27

What is the curl of the vector valued
function flx,y,z)=ysinxi+
zsinyj+xsinzk at the point
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Question 28

If @(x, v, z) is a scalar function and
C is a closed curve, then find the
value of [ ¢ Vedr.
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Question 29

If @(x, v, z) is a scalar function, then
find the value of curl{grad @) .
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Question 30

Find the angle between the vectors
a=3i+4jand b=4i+4j+2k.

TMa=3i+4 SRb=4i+4+
2 OW@a JT2 b JE WIS (@
EER D)



